What portion of an employee’s salary is eligible for CEWS?

Arm’s Length Employee Determination (based on weekly earnings)

4) CEWS = $847
$1,129

Eligible remuneration
(Current period)

1) CEWS =75% of
Current
remuneration

$847

3) CEWS = 100% of
Current remuneration

$0 $1,129
Baseline remuneration

(Jan 1 — March 15 average weekly eligible remuneration)

Keys

1)

2)

3)

4)

Current remuneration exceeds
haseline remuneration

Current remuneration is hetween
75% and 100% of baseline

Current remuneration is less than
75% of baseline remuneration

Current remuneration is at least
$1,129

OR

Baseline remuneration is at least
$1,129 and current remuneration
is at least $874

Non-Arm’s Length Employee Determination (based on weekly earnings)

3) CEWS = $874
1) CEWS = 75% of

Baseline
remuneration

Eligible remuneration
(Current period)

$847

2) CEWS = 100% of
Current remuneration

$0 $1,129

Baseline remuneration
(Jan 1 — March 15 average weekly eligible remuneration)

>

Keys

Current remuneration exceeds
75% of baseline remuneration
(Note: No baseline remuneration
means no CEWS)

Current remuneration less than
75% of baseline remuneration

Current remuneration at least
$874 and baseline remuneration
at least $1,129

WARNING: This information is for educational purposes only. As it is impossible to include all situations, circumstances and exceptions in a newsletter such as this, a further review should be done by a
qualified professional. No individual or organization involved in either the preparation or distribution of this letter accepts any contractual, tortious, or any other form of liability for its contents or for any

consequences arising from its use.
Copyright © Video Tax News Inc, All Rights Reserved 2020. Date of Issue — April 2020.

VIDEO TAX NEWS

CIA WA W Y AV AT




